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2 \Vrite and solve a multiplication equation for each problem:

l.
2.
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4.
S.
6.
/.
8.
9.

10.

If you plant 3 rows of carrots with 4 carrots in each
row, how many carrots will you have in total?

If you buy 4 bunches of broccoli and each bunch has
5 stalks, how many stalks of broccoli do you have?

If you have 5 cartons of tomatoes and each carton
has 6 tomatoes, how many tomatoes do you have in
total?

If you have 6 packages of spinach and each package
has 7 ounces, how many ounces of spinach do you
have in total?

If you have 8 sets of corn and each set has 9 ears,
how many ears of corn do you have in total?

If you have 9 packages of green beans and each
package has 10 ounces, how many ounces of green
beans do you have in total?

If you have 10 bags of potatoes and each bag has 11
potatoes, how many potatoes do you have in total?

If you have 11 heads of lettuce and each head has 12
leaves, how many leaves of lettuce do you have in
total?

If you have 12 packages of mushrooms and each
package has 13 mushrooms, how many mushrooms
do you have in total?

If you have 13 jars of pickles and each jar has 14
pickles, how many pickles do you have in total?

—

X

R




Multiplication Word Problems

Name:
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I \Vrite and solve a multiplication equation for each problem:

If you plant 3 rows of carrots with 4 carrots in each X
row, how many carrots will you have in total?

If you buy 4 bunches of broccoli and each bunch has —
5 stalks, how many stalks of broccoli do you have? X

If you have 5 cartons of tomatoes and each carton
has 6 tomatoes, how many tomatoes do you have in -
total? X -

If you have 6 packages of spinach and each package —
has 7 ounces, how many ounces of spinach do you X
have in total? S -

If you have 8 sets of corn and each set has 9 ears,
how many ears of corn do you have in total?

X
I

If you have 9 packages of green beans and each S
package has 10 ounces, how many ounces of green X
beans do you have in total?

If you have 10 bags of potatoes and each bag has 11

potatoes, how many potatoes do you have in total? X -
If you have 11 heads of lettuce and each head has 12

leaves, how many leaves of lettuce do you have in —
total? X -

If you have 12 packages of mushrooms and each —— —
package has 13 mushrooms, how many mushrooms X
do you have in total? S S

If you have 13 jars of pickles and each jar has 14
pickles, how many pickles do you have in total? X
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